Date from to AH7dyU B B
10-Aug 16:30 17:30 St xavka—)L
Fri 17:30 20:15 A4 v L—= Y
Date from to AH7dyU B B
7:15 EF G
11-Aug 8:00 9:30 fL—z=25
Sat O3 tE—I-S—Fa Y
9:00 TLR-Z—F42Y
DAY 1 48—l
9:35 B¥az=7 TA4) Y 1A E
ZFU15 BA/S—> 21— k(2km) R
ZFUL7 BA/R— 21— +(2km) R
B FU15 BA/S— 21— F(3km) R
BFU17 BA/R— 21— +(3km) R
BFTaz7 A ZwF 5km FiE
ZFU15 BAN/S— 22— F(2km) =ER
ZFUL17 BA/— 22— F(2km) e
BFU15 BAN/8— 22— F(3km) =ER
BFUL7 BA/— 22— F(3km) e
13:15 KE/IFL—=2Y
13:15 BFoa1=7 TA4) Y B 1R T
ZTFDa1=T BA/S—S 2 — F(2km) i
BFToa=7 BA/S— 22— (3km) F=E
BFoazZ7 TA4) Y 5 2[E B
BFul7 RA Y FL—R 7.5km FiE
TFUL7 R4 > k- L—R 10 km R
ZFSa1=7 BA/S— 2 — +(2km) 3-4f1 iR E B
BFTa=7 fBA/8—S 2 — F(3km) 3-AfL iR TE B
ZFSa1=7 BA/S— 2 — +(2km) 1-26 R TE
BFTaz=7 fBA/8—S 21— F(3km) 1-24 R E B
B¥Pa=7 L) 7-12f R EE
BFTazZ7 TA4) Y R
ZFULT7 R4 k- L—X 10 km =RER
ZFaz=7 BA/S—> 21— F(2km) =EX
BFoaz7 BA/8— 2 — F(3km) E3-N
BFTazZ7 A9 ZwF 10km R
Bxoa=7 R4 > FL—Z 10 km i
BFTaz7 TA4) Y =EA
18:00 B¥>a1=7 A9 ZwF 10km FEN

16:45 17:00

SA4trRarra—)L




Date from to AHh73dy B B
7:15 EF RS
12-Aug 8:00 9:15 fL—=24
Sun AStE—-E—FaY
9:00 TLR-2—F 45
DAY 2 48—
9:20 ZFDaA=T ATy vk F3#(200 M FTT)
BFTaz7 ATy b F3E(200 M FTT)
ZFU15 500m A4 LLSATIL R
ZFUL7 500m B4 LbSATIL R
TFPa17 500m A4 LESATIL R
BF¥FTaz=7 ATy bk /4R R (5 1 [E18)
BFTazZ7 ATy bk /4R R (55 2[E B)
ZFU15 500mAA4LkSA4T7IL =ER
ZFUL7 500m B4 LrSATFIL e
TFPa1Z7F 500mAALkSA4T7IL =ER
BFTaz7 ATy bk 1/43R R (55 3[E B)
BEFU15 1kmE2ALcSATIL R
BFUL7 1kmB2A4A L+SATIL R
BFTaz=7 1kmE2ALcSATIL R
TFTa=7 4> kL—X 20 km R B
BFU15 1kmE2ALcSATIL =EA
BFuU17 1kmABALrSATIL e
BFTaz=7 1kmE2ALcSATIL =EA
13:55 K@/ FL—=2Y
13:55 TF¥FPa7 ATy 1/2R % (565 1 [E1 B)
BF¥oa=7 ATy bk 1/2;R R (565 1 [E B)
TFD1T ATk 1/2;R B (55 2[E1B)
BF¥oa=7 ATy bk 1/23R R (55 2[E B)
BFu17 KA kL—R 15km R
ZFOa=T ATy bk 1/2;R 1% (5B 3[E1 Bk)
BFTazZ7 ATy b 1/2;R B (55 31 B)
ZFOa=T RA Y kL—R 20km e
HFul7 R4 > bL—X 15km F~EX
15:05 A2 =N
15:05 ZFa1=7 ATy 3-A{SL R 7E Bk (55 1 [E] BK)
BF¥Foa=7 AFY bk 3-4 R TE BR (1B E)
ZFLa1ZT ATy 1-2{3 3R TE B (35 1 [E1 B
BF¥Foa=7 ATy bk 1-24 ;R EBR (1B 8)
BFTaz7 ATy 5-8{i iR 7 B
ZFOa=T AFY ok 3-443L IR TE Bk (5F 2B )
BFoaz=7F ATy bk 3-A{SL R 7E Bk (55 2| )
ZFLaZT ATy bk 1-2130 3R 7 B (55 2 [E )
BFoaz=7F ATy bk 1-2{3 3R TE B (BB 2 [E B
BFoaz7 RA Y kL—R 25km R
BFSa1=T ATy bk 3-A{SL R 7E Bk (55 3| B)
BFXTa7 ATy bk 3-443L IR T Bk (5F 3[R
BFSa1=T ATy bk 1-2{3 3R 7E B (55 3 B
BFXTa7 ATy bk 1-243 ;R TE B (BE 3[E )
BFoaz7 RA4 > FL—R 25km ~EX
BFTaZT7 ATy bk RER
BFoaz=7F ATy bk =ER
16:35 ETE=F Jochy TS




